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- (1} (20%) Calculate the composition of a Cu-Ni solid saIunnn that 1s in

equilibrivm with pure solid CuyQ and pure solid NiO at 1000°C.
Assume that the ailoy solid solution is ideal.

" Daga at 1000°C

2Cu(s) + 142 Oy (8} = Cuz0(8)  AGO =.76292 1

Ni(s) + 1/2 05 {g) = NiO(s)  AGe = -126.178 ]

(2} (30%) The following questions pertain to the reaction

2NOCI = 2 NO + Cly

(@) A certain amount of NOCI is introduced into a flask at 20070, At

equilibrium, the total pressure is 1 atm and the partial pressure of
NOCI is 0.64 aun. Calcutate the equilibrium constant of K.,

(b) K increases by 1.5% per degree around 200°C. Caleulate A Ho for
the reaction. Assuming that K at 200°C is 0.1 atm. caleulate A S,

- {&} Assume that K is 0.1 atm at 200°C, calculate the pressure of which

the degree of dissociation of NOC! will be §.2.
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